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QUESTION 1

When you manually create a binding such as an attribute value binding, what name would you give to the binding?
(Choose the best answer.)

A. a name that reflects the Ul component to which it is bound

B. the page name suffixed with the Ul component name to which it is bound
C. the page name suffixed with the data control name

D. the name of the data control attribute to which the binding refers

E. an EL (Expression Language) of the form #{bindmgs value}

Correct Answer: B

QUESTION 2

Which two statements describe the characteristics of an application module? (Choose two) A. ft provides the database
transaction for the queries that it encapsulates.

B. it defines view object instances to implement an application use case.

C. it defines entity object instances to implement an application use case.

D. There is a one-to-one mapping between view objects and application modules.
E. Each ADF application has only one application module.

Correct Answer:. AB

QUESTION 3

Consider a case where an application does not respond as predicted when a user submits data. Where would you set a
breakpoint to debug the issue? (Choose the best answer)

A. the value binding for the iterator on the pagedef for the view

B. a view activity that is used to determine where to send the user

C. the partialTriggers property of the data bound component in the view
D. the Apply Request Values phase of the life cycle

Correct Answer: A

QUESTION 4
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You have three application modules: A, B, and C. Application modules B and C are nested under the root application
module A. Which statement is true when committing the nested application module B? (Choose the best answer.)

A. No view objects are committed

B. Only changes to view objects exposed through application module B are committed

C. On|y changes to view objects exposed through application modules A and B are committed

D. All changes to all view objects exposed through all application modules A, B, and C are committed.

Correct Answer: C

QUESTION 5

Which two statements ate true about a dvt:gauge component? (Choose two.)

A. dvtthresholdSet with dvtthreshold tags can be used to define ranges of data and coloring for a gauge
B. The style of the dial in a dial gauge is fixed

C. A gauge component can render as a vertical status meter.

D. Gauge data range must start from 0.

Correct Answer: AC

Latest 170-419 Dumps 170-419 PDFE Dumps 170-419 Study Guide

Latest 120-419 Dumps | 120-419 PDF Dumps | 120-419 Study Guide 3/3


https://www.pass2lead.com/1z0-419.html
https://www.pass2lead.com/1z0-419.html
https://www.pass2lead.com/1z0-419.html
http://www.tcpdf.org
https://www.pass2lead.com/1z0-419.html
https://www.pass2lead.com/1z0-419.html
https://www.pass2lead.com/1z0-419.html

